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INDIAN CULTURE

Paper - 11

The main source for the study of
Indus Valley culture is

(A) Literature

(B) Numismatics

(C) Archaeology

(D) Epigraphy

Match List-I with List-II and select
the correct answer from the code
given below the lists :

List - I List - II
(Sources) (Period)
(a) Rigveda (1) Later
Vedic Age
(b) Rupnatha (i1) Kharavela
Minor Rock
Edict
(c) Hathigumpha (1i1) Ashoka
Inscription
(d) Later Vedic (iv) Early
literature Vedic Age

Select the correct answer from the
code given below :
Codes :
@ (@® © @
(A) (Gv) (@) (@) (1)
B) @) av) @O (>
© @@ @® )y @Gv)
D)y @ Gy @) @Gv)

Indica is the source of which

period ?
(A) Vedic (B) Mauryan
(C) Sunga (D) Kanva

The main source for the study of
Sangam Age is

(A) Tamil literature

(B) Archaeology

(C) Epigraphy

(D) Foreign accounts

Paper-1I

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

The most important characteristic of
the Harappan towns is

(A) Towers

(B) Town-planning
(C) Wide roads
(D) Very large size

Which site provides the evidence of
the earliest cultural phase ?

(A) Mehargarh (B) Kot-Diji
(C) Surkotda (D) Banawali

Match List-I with List-II and select
the correct answer from the codes
given below the lists :

List - 1 List — II
(Site) (State)
(a) Banawali (1) Gujarat
(b) Kalibangan  (ii) Madhya
Pradesh

(c) Dholavira
(d) Eran

(111) Haryana
(1v) Rajasthan

Select the correct answer from the
codes given below :

Codes :

@ (b (© @
A ® (@) (@av) (>
B) Gy av) (@ ai)
© @) av) @ (>
(D) Gv) @) @) (@

Which of the Brahmana belongs to
the Rig-veda ?

(A) Taittriya Brahmana

(B) Satapatha Brahmana

(C) Gopatha Brahmana

(D) Aittriya Brahmana
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10.

11.

12.

13.

14.

15.

The Sambhita is

(A) atexton Ayurveda
(B) the Aranyakas

(C) acollection of hymns
(D) atext on grammar

The second phase of urbanization
started during the following period :

(A) 200 B.C. (B) 600 B.C.
(C) 200 A.D. (D) 600 A.D.

Which Jaina Tirthankara preached
the Pancha-mahavratas ?

(A) Adinatha

(B) Shantinatha
(C) Parshvanatha
(D) Mahavira

Give the name of the Mauryan king
who used stone in architecture ?

(A) Chandragupta Maurya
(B) Ashoka

(C) Dashratha

(D) Bindusara

Who wrote the Mahabhashya ?
(A) Patanjali (B) Panini
(C) Manu (D) Charak

The Jataka stories emerge for the
first time in Indian art at

(A) Sarnath (B) Mathura
(C) Amaravati (D) Bharhut

Which stupa contains the relics of
Sariputta and Maudgalyan ?

(A) Bharhut
(B) Sarnath
(C) Sanchi

(D) Bodh-Gaya

Paper-1I

16.

17.

18.

19.

The cave architecture was started
during the time of

(A) The Mauryas
(B) The Sungas

(C) The Satavahanas
(D) The Sakas

With which region did India
maintain contacts during the Gupta
period ?

(A) West Asia

(B) Iran

(C) South-East Asia
(D) None of the above

Match List — I with List — II and
select the correct answer from the
codes given below the lists :

List - 1 List — II
(Author) (Work)
(a) Kalidasa (i) Mricchakatikam
(b) Dandin  (i1)) Gaudavaho

(c¢) Sudraka (iii) Dashakumara
Charita

(d) Vakapati (iv) Rahuvamsha

Select the correct answer from the
codes given below :

Codes :

@ @ © @
A @  Gv) (@) ()
B) @) G @ (1)
© Gav) @) @ )
D) @ @ (av) ()

Brahmagupta’s Brahma-Siddhanta’s
Arabic translation is called

(A) Sindhind

(B) Brahma - Siddhanta
(C) Kitabul Siddhanta
(D) Ilmulhisab
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9, TRAFME?
(A) ST TR 7
(B) 3RUIH
(C) TAETHT T WUE
(D) AR R T
10. TRIHOT T TEA RO F=Afhd § &
Tehdl ShTeT oh QT UIREH g3 ?
(A) 20039 (B) 60030,
(C) 200%. (D) 600 ¢%.
11. U¥ Heredl & SV g ST didet 3
a2
(A) 3 (B) iy
(C) d™E" (D) TEER
12. STEIHET H TR 1 SYFRT 3 a1t i
T[T T FTH S15T |
(A) T[IHT  (B) 3R
(C) IR (D) Ta=gER
13. 9T Tohe forar o ?
(A) TSI (B) urfortT
(C) =g (D) ==
14. YA ol § ST AU G el
TR AT g2 ?
(A) g (B) #I
(C) TR (D) wEq
15. IRUT IR ORI & REwY h
WA H IR T E ?
(A) H&d (B) ORI
(C) = (D) ST
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16.

17.

18.

19.

T ITERTeT & T[T AR hT WIRET
73T ?

(A) @
(C) e
TThTeT o IR TR + fohd & & a1
T 1 T ?

(A) ufvem Ui

(B) T

(C) feror-ud wferam

(D) ST H & HFE Tl

(B) T
(D)

gt — 1 o 9 gt — 11 o1 THee shitetg

3R A &% Bl ¥ WE SW B =TI
T
LU | et - 11
(Fr) @)
(a) o™ (i) TR
(b) =T (i) Tireemr

(c) IEH (i) STFARARA
(d) =i (iv) g
et f58 7 e W W e IR A
He
@ @ © @
A @ (Gv) (@) (i)
B) i) () @ (iv)
© (Gv) @) @ ()
D) () @) @(Gv) (i)

ST o STl TG T 3TREl STag T
FHEAT & ?

(A) ToufEs

(B) @& f9sT
(C) TohaEer faaT
(D) TereIfedrs
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20.

21.

22.

23.

Of the following, which was the
feature of the Brick Temple at
Bhitargaon, built in the Gupta age ?

(A) The use of marble
(B) The use of arch

(C) The use of lime mortar as the
cementing material

(D) The use of red sandstone

Which of the following is considered
as the best specimen of the Gupta
sculptural art ?

(A) Vishnu Image of Mathura

(B) The Buddha in Dharma Chakra
parivartan mudra from Sarnath

(C) Mukhalinga image of Khoh
(D) Mathura image of the Buddha

What was the consequence of Indian
Feudalism ?

(A) The extension of agrarian
economy

(B) The strengthening of State
(C) The stability in caste system
(D) The growth of handicrafts

The mixed-caste Ambastha

originated due to

(A) a kshatriya male marrying a
brahmana female.

(B) a brahmana male marrying a
kshatriya female.

(C) a sudra male marrying a
vaishya female.

(D) a brahmana male marrying a
vaishya female.

Paper-1I

24.

25.

26.

Match List — I with List — IT and
select the correct answer from the
codes given below the lists :

List -1 List - II
(Place) (Work of Art)
(a) Ajanta (1) Kailash temple
(b) Ellora (i1) Brahmanical
sculptures
(c¢) Khajuraho (iii) The cave
paintings
(d) Elephanta (iv) Temples built by
the Chandellas
Codes :

@ ® (© (@
@A @ G 3G Gv)
B) @ (@) 3Gv) @
© Gy @ >Gv) G
D) Gv) (@) @) (D)

Who propounded the philosophy of
Advaita Vedanta ?

(A) Ramananda

(B) Shankracharya

(C) Ramanuj

(D) Vallabhacharya

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : Menander, the Indo-

Greek king embraced
Buddhism.
Reason (R) : He was forced for

conversion by Nagasena, the
Buddhist philosopher.

In the context of the above two

statements, which one of the

following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.
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20.

21.

22.

23.

T el | e § i €2t % e
(Tsteh 27eT) ot ToriseT FFAitchet | & T
g7

(A) TR T IYIT

(B) dROT (Arch) =1 3Tt

(C) Sire &l Qi o & § FA-TRT
T 3T

(D) ATeT T3 Yo T SUATT

T Hidehell T Faras AT it 7
T ol e Sar e ?

(A) = =t T wferer

(B) XA ¥ gHwsh UREaH q51 H 95
ArcHT

(C) e i TEienT Ufamr
(D) T i =Y it

IR |THTaT T OO T g &7 ?
(A) Y T A foar

(B) 19 1 ggg &l

(C) i e H e

(D) TRa I g

fHfsa Sfa e 1 3gva F1 5 |
Toh g ShRT ¥ g7 ?

(A) @B T8Y 1 S B % wY
Torame e |

(B) TR UEY I & St e
Torame e |

(C) 3% T59 T ¥ Tl & a1 9o
FET |

(D) TET q&9 1 ovd Gl % qY
forae e |
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24.

25.

26.

et - I gE — 11 % 919 gaferd

HI R A 58 Fel @ TE W A
T B
et - I et - 11
() (et Bt Hi)
(a) 3T (i) hoteT Af
(b) THART (i) STEToT & St HicAt
(c) TRE (ki) T Femrehrdl
(d) Te=T  (iv) et §RT M
AT
&

(@ @® (© (@
@A) @O a3 @{Qv)
B) G (@) 3Gv) @)
© @i @@ av) >0
D) @Gv) (@) @ 36

3T g <9 Tohde Ufaqured ferar 2
(A) THFE (B) i
(C) TS (D) T

I g1 e 53 T €, U o ST

(A) 3R T i T (R) =T A fam T

g

ARTHIT (A) : TS-WF T, AR A
g & T STOHTET T |

& (R) : Al g, AT
TN S 99 UNeeH & ford are
TR T |

ST I AT o T H, fifeha 7 @

FAATTLE ?

(A) (A) 3R (R) FFI F4 &, 3R (R),
(A) FT el WL |

(B) (A) 3R (R) T ¥ &, T (R),
(A) T TEl TR TR & |

(©) (A)TF &, T (R) 3AE |
(D) (A) A&, W] (R) TAE |
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27.

28.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : Ashoka started the
dhamma.

Reason (R) : He wanted to
become the prophet of a new
religion, because he was very
fond of popularity.

In the context of the above two
statements, which one of the
following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : Indians
historical sense.

Reason (R) : They have not
produced any historian like
Herodotus.

have no

In the context of the above two
statements, which one of the
following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

Paper-1I

29.

30.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : The sculptural art in
ancient India reached its high
watermark in the Gupta age.

Reason (R) : It 1is influenced
profoundly by the foreign art.

In the context of the above two
statements, which one of the
following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A): Saivism was very
propular among the ruling
dynasties of Early Medieval

India.
Reason (R) : Most of the
magnificent temples of

Saivism were  constructed

during this period.

In the context of the above two
statements, which one of the
following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

J-5010



27. g w53 T €, U I e

28.

(A) 3R T i 7k (R) =T A fam T
g

AMHAT (A) : 3MF 7 O UREH
o |

& (R) : 9 T oH TR
I ARAT 9T, Hife 39
TARIVT ST g =14 T |

IR &1 AT o HIH H, H=ifha § &

T AT E ?

(A) (A) 3R (R) T FH &, 3R (R),
(A) FT el TETE |

(B) (A) 3R (R) T ¥ &, T (R),
(A) T FEl TILHT &1 ¢ |

(C) (A)TTE, W (R) ST |

(D) (A) A&, W] (R) TAE |

e 31 e 53 T €, U ol ST
(A) 3R T i T (R) =T A feam T
T

ATHFHIT (A) : WA T I(qerd
T T AT e |

& (R) : FeR ENeRE  oE
frdl sfaer@eR &I S Tl fear
g

ST T AT ok G |, feifeRa 9 @
FAATTEE ?

(A) (A) 3R (R) TAl T &, 3R (R),
(A) FT el TETE |

(B) (A) 3R (R) T ¥ &, T (R),
(A) T FEl LT &I ¢ |

(C) (A)TTE, W (R) ST |

(D) (A) A&, W] (R) TAE |
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30.

(A) 3R T i T (R) =T A9 feam T
g

Afrpe (A) : UEH 9RT ¥ gl
ST St el T et H 370 =)y
forg e uga T ot |

% (R) : TRl wolm T W
TERT TR UL & |

ST T HeT o I H, ieha 7 9

T AR E ?

(A) (A) 3R (R) IHT FH &, 3R (R),
(A) FT el WL |

(B) (A) 3R (R) T ¥ &, T (R),
(A) 1 TEl TR TR & |

(C) (A)TTE, W (R) ST |

(D) (A) A&, W] (R) TAE |

I g1 e 53 T €, U o ST
(A) 3R T i @ (R) =T A fam T
T

AfHAT (A) : TRMIF TEmT aRd
% TorEe | U oH Fgd vEted
o |

& (R) : e g o SAIHIY WA
Hf<Y 3§ o7 & SR MiHa
|

ST I AT o Hg H, Fifeha 7 @

HTATGEIE ?

(A) (A) R (R) TAl FH &, 3R (R),
(A) FT TEl WL |

(B) (A) 3R (R) T ¥ &, T (R),
(A) T TEl TR TR & |

(C) (A) TTE, W (R) ST |

(D) (A) A&, W] (R) TAE |
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31.

32.

33.

34.

Shaikh Nizam ud din Auliya’s
sayings and doings known as Fawaid
al Fuad was compiled by

(A) Amir Khusrau

(B) Amir Hasan Sijzi
(C) Ziaud din Barani
(D) Shams Siraj Afif

Which of the following Sultans of
Delhi repaired Qutub Minar, cleared
the then derelict Hauz Khass and

erected on its bank a specious
Madrasah ?

(A) Allauddin Khalji

(B) Ghiyasuddin Tughlaq

(C) Firoz Shah Tughlaq

(D) Sikandar Lodi

Which of the following pair is not

correctly matched ?
Text Author
(A) Purushpariksha (i) Vidyapati

(B) Parimanamanjari (ii) Mallav

(C) Bhaktamala (ii1)) Dadu
Dayal

(D) Braham (iv) Kewal
Prakash Niras Ram

Monotheist Saint Kabir is referred in
his work by

(A) Ziaud din Barani

(B) Abul Fazl

(C) Gulbadan Begum

(D) Jahangir in Tuzuk-I Jahangiri

Paper-1I
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35.

36.

37.

Which ruling dynasty of
Vijayanagara named Virupakasha as
their family deity ?

(A) Sangama (B) Saluva
(C) Tuluva (D) Aravidu
Mughal emperor Babur wrote

Baburnama in the language of
(A) Uzbek (B) Persian
(C) Arabic (D) Turkish

Match List — I with List — II and
select the correct answer from the
codes given below the lists :

List -1 List - II
(Books) (Author)

(a) Early Mughal (i) Som
Painting Prakash

Verma

(b) Indian (i) Moti
Painting Chandra
under the
Mughals

(c) The (ii1) Milo
Technique of Cleveland
Mughal Beach
Painting

(d) Mughal (iv) Percy
Painters and Brown
their works.

Codes :
@ b © @@

A @) @Gv) (@ (i)

B) @) @Gv) @@ @)

© O @) Gv) G

D) @ @ >) Gv)
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31. @ FEMEE Sfiferr & SuSer 9 @,
¢ waTEe-3A-%ag Fel ST &,
Heho fohe foraT ?

(A) 3R GEI
(B) 3R & st
(C) TFam=ed s
(D) IF TSt TR

32. ool & feicha gotar o @ fohae
FT THR 1 T HATE, 3T I H
TR &9 T ol | AT SR 3h
TR R ToreTTet W Sama 2
(A) TR Raersit
(B) TARGEH e
(C) TS FTeTeh
(D) Tz @R

33, faifrd i @ @ @1 W&l gaferd
FiE?

pE0) gieca
(A) TN () foamfa
(B) URHESRI (i) Homd
(C)  eFAHTe (iif) TGRS
(D) FEVERIARE  (iv) Hoenm

34, T TehveRATR! v AR o 5756 370

F (AT Fia) Hfpae ?

(A) TSE=ER aw

(B)  3Fefet wstet

(C)  TeTas s

(D) qIH-T-SRNR | STri =
J-5010
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35.

36.

37.

foSTaTR o Toh STTehIT 9T = AToaTeRT
T 3TIT HotaardT ATHITh TR ?

(A) ™

(C) T

(B) e

(D) 3WIag

T HHTE STeR F SERATT foFg o |
fora ?

(A) 3ITF
(C) owar

(B) WREr
(D) TH

et - [ gt - 11 & |y gaferd

FIT 3R A T Fel T TE W A
T I
T -1 et - 11
(T=) (@)

(a) SRENTTA (i) QHEUHRT T
e

(b) Teaaufm (i) T ==

LA

HiTed
(c) TeHFAE (i) et Flecis

AT et Eiic)

ofe
(d) TATR (iv) 96 e

TUE W

EET]

FT:

@ @ @© @
(A) (i) (@v) () (i)
(B) (i) (v) @) (@)
© @® (@) @Gv) (@)
D) @y (@ (@) @[v)
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38.

39.

40.

41.

Which of the following painters was
given the title of Nader al-Asr by
Jahangir ?

(A) Abul Hasan
(B) Ustad Mansur
(C) Basawan

(D) Manohar

Consider the following statements :

Assertion (A) : Shahjahan’s reign is
famous for the quality and
quantity of Sanskrit works.

Reason (R) : In matters of

religion he was liberal like
Akbar.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

A melody known as Rast Kashmiri
was introduced by

(A) Lalla De

(B) Habba Khatoon
(C) Zain-ul Abidin
(D) Shaikh Nasruddin

Who had established the Indian
Association for the cultivation of
Science ?

(A) Jagadish Chandra Bose
(B) Mahendra Lal Sarkar
(C) C.V.Raman

(D) Prafulla Chandra Roy
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42.

43.

44.

45.

Where was the Prarthana Samaj
founded for the first time ?

(A) Kolkata (B) Varanasi
(C) Bombay (D) Madras

The terms Sudra and Ati Sudra were
coined by

(A) Swami Vivekananda
(B) Dayananda Saraswati
(C) Babasaheb Ambedkar
(D) Jyotiba Phule

Who among the following was
called the Grand Old Man of India ?

(A) Bal Gangadhar Tilak
(B) Dadabhai Naoroji
(C) Rabindranath Tagore
(D) Syed Ahmad Khan

Match List — I with List — II and
select the correct answer from the
codes given below :

List - I List - II
(a) 1813 (i) Wood’s Dispatch
(b) 1835 (i) Charter Act
(c) 1854  (ii1) Indian Education
Commission
(d) 1882  (iv) Macaulay’s Minute
Codes :
@ b (© (@
A O @Gv) G 1)
B) () (@) Gv) @)
© @ @© @) Gv)
D) G @Gv) (@ (i)
J-5010



38.

39.

40.

41.

SERIR R ARY 37e1-318 &l fade
fr=tiferd Temrerr 5§ ford feam mar ar 2

(A) I &HT
(C) ¥

(B) S HP
(D) ¥R

frfeRea aedea R foaR St

ATIHUT (A) : IMESTI BT IMEHA
T&hd O ¥ forg T e @t
TOTErT 3R AT o o7 uieg o |

& (R) Y % UHA H OTE
3TeHeR I Wi STR AT |

ST I AT o T H, fifeha 7 @

FAATTLE ?

% :

(A) (A) 3R (R) THT T & 3 (R),
(A) I eI ATATE |

(A) 3R (R) I T &, T’ (R),
(A) & T AT TR E |

(A) T &, W (R) A |

(B)

©

(D) (A) A&, W] (R) TAE |

TR HIHRY AT I & & e § 9
Toheh 5T o1 TS ot 2

(A)
(B)
©
(D)

A I

[SIRCICR]

-3 STEIRA

G THGEA

o= & e o o Seas vairade™
Y TATOT fohe il off ?

(A) SRR =% a9

(B) He= ot 9k

(C) wrat. o

(D) UpeA o= T

J-5010
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42.

43.

44.

45.

T GHTST Gl el LA fohar T
T ?

(A) IcTeHTT
(C) ==
frefefed & ¥ fFe IF e o
T3] <Rl IST i 2

(A) T fgaes=s

(B) TAWE W&l

(C) dIeT 9r8d 3THIgehY

(D) SHIfcaT Bt

(B) aRmomEr
(D) W™

ORT & U= 3o O =ifehd 4 9
frd TeT ST e ?

(A) STeT TR Tieteh
(B) STRTHTE ARIST
(C) o= iR
(D) ¥R S @H

et - [ gE — 11 % 9y gaferd

FI R A 58 Fel @ TE W A
T B
et - I et - 11
(@ 1813 (i) geufew™
(b) 1835 (i) TR
(c) 1854 (i) Efemm USThIM
T
(d) 1882 (iv) Thiet® e
&
(@ ® (© (@
(A ® (Gv) (@) (1)
B) () (i) Gv) (@)
© @G @ (i) @)
(D) ) @Gv) ([ (D)
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46.

47.

Consider the following statements :

Assertion (A) : Gandhi
untouchability an

made
issue of
public concern.

Reason (R) : The
untouchability was one of the

removal of

three major issues of the non-

violent, non  cooperation

movement.

Now select the answer from the
codes below :

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, and
(R) explains (A).

(C) (A)istrue and (R) is false.

(D) (A)is false and (R) is true.

Assertion (A) : Lord Bentinck
abolished Sati child
infanticide through legislation.

and

Reason (R) : He
legislation an effective agent

considered

of social change.

Codes :

(A) (A)is true and (R) is false.

(B) Both (A) and (R) are true, and
(R) is the correct explanation
of (A).

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are true, but

(R) does not explain (A).

Paper-1I

14

48.

49.

50.

Who is the author of the book
entitled An Anthropologist Among
Historians ?

(A) K.S. Singh

(B) M. N. Srinivas
(C) D.D. Kosambi
(D) Bernard S. Cohn

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List - 11
(Association) (Place)
(a) Theosophical (i) Lahore

Society
(b) Scientific (i1) Madras

Society
(c¢) Hindu Social (iii) Adyar

Reform

Association
(d) Dev Samaj (iv) Aligarh
Codes :

@ @ © @
(A ) @) @Gv) 1)
B) @O @Gv) (@) ()
(© @) @Gv) @Gy @)
(D) av) (@) (@ ()

Which of the following is not
recognised as the World Heritage
site ?

(A) TajMahal
(B) Jantar Mantar
(C) Humayun Ka Makbara
(D) Red Fort
J-5010



46.

47.

frfetEd sereal W faar Fifem

AR (A) @ T SRgwEAT R
HTeSI-Toh WRIFR T HET ST |

& (R) : STEYAAT 1 T
fedr,  TWEAN <RI &+ dA
T TR H 9 TH 7 |

3 A= f5¥ Fel ¥ T IW A T

T :

&
(A) (A) IR (R)INIAE |

(A) 3R (R) IHT FF & 3R (R),
(A) o AT HLATE |

(B)
(C) (A) T 3R (R) 3T |

(D) (A) ITAE AR (R) AT |

AT (A) : e dfes 3 faum
() & AT O T AR g
T VT Sl FHTe foha |

& (R) : 3G B P FHISTD
R T THTERTTAT T THET |

&
(A) (A)TTE 3R (R) 3T |

(A) 3R (R) 34T T & 3R (R),
(A) FT el TETE |

(B)

(C) (A) 3R (R) T AT |

(D) (A) 3R (R) T 9 &, W] (R),

(A) T TELIHIOT & FATE |

J-5010
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48.

49.

50.

T THIATTEE 31T §RNEE 96

T &% b HH & ?
(A) . Tq. &
(B) TUH. . gifterg
(C) . . =
(D) TS UH. SR
et - [ gE — 11 % 9 gaferd
FIT R A 58 Fel T TE W A
I IS
T -1 et - 11
(F9) (TT)
(a) PEEIFRT (1) ER
e
(b) =T (i) T5T9
el
(c) Te areTe (iiii) IR
Eeae)
T
(d) 3o g9 (iv) 3TcTTE
FT :
@ @ © @
(A) (i) di) 3Gv) @
B) () (v) (i) (i)
(©) (i) @(v) @) (@)

D) @Gv) i) @ (3G

foeifera § @ T faver faraa et =&t
T ST € 2

(A) drSHgeT
(B) SRHER
(C) & 1 Ha
(D) AT Tohet
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